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Time allowed: 20 Minutes

CHEMISTRY SSC-I
SECTION — A (Marks 12)

Section—A is compulsory. All parts of this section are to be answered on the question paper itself.

NOTE:
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed, Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i)

{vi)

(vii)

(vii)

(ix)

)

(xi)

If the molar mass of a compound is 90 g/mole, the number of its moles containing 3.011x10%

molecules will be: )
A 1.5 B. 3.0 C. 05 . D. 4.5

The correct electronic configuration of 1, Mg is:

A. 15%,25%,2p%,35%,3p%,457°,3d* B. 1s%,25%,2p%,3s°

C. 1s%,25%,2p%,35%,3p°,45',3¢° D. 1s%,25%,2p%,3s*

If you move from left to right in a period of periodic table, which of the following will NOT change?
A Atomic radius  B. Atomic mass C. Shielding effect D. Nuclear charge
The bond which is formed by completé transfer of electrons from one atom to another is called:
A Covalent bond B. Hydrogen bond

C. Co-ordinate bond D. lonic bond

The melting point and boiling pint of water are higher due to:

A Its covalent nature 4 B. Hydrogen bonding

C. lts higher molecular mass D. lts higher density

v
The equation ? = constant is the mathematical expression of:

A Charles’s law B. Avegadro's law

C. Boyle's law D. Law of diffusion

The direct conversion of a solid into vapours is called: .

A Evaporation  B. Melting C. Boiling D. Sublimation

An agquecus solution can dissolve 25 g of a solid at 25°C . If someone dissolves 20 g of this solid in water

at 25°C then this solution will be called: |
A Supersaturated solution - B. Unsaturated solution
c. Saturated solution - : D. Solution of liquid in fiquid

A chemist dissolves 15 g of NaCl in 85g of H,0. This solution is:

CUAL T 85% m/m NaCl solution - ) 15% miv NaCl solution »
C.  15%viv NaCl solution D. 15% m/m NaCl solution
Gain of electrons and loss of oxygen is called: .
A Oxic-lation B. . Reducton  C. Ré:dox reaction D. Neutralization reaction
~ Which of the following is the reaction téking place at anode_? ' o
A 2H,,, + Oy = 2H,0, : B. Zn",, T26° —=Zn,
L -C Cry,, — Cr7,, +3¢ D.  Pb, + Cly, — PbCly,

(xii)

“Which of the following oxides Is the Most basic oxide?
A, SO B. . BaO - Cc.  Cal D. MgO
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CHEMISTRY SSC-

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two queshons from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

SECTION - B (Marks 33)

Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

(1

(ii)
(i)
(iv)

Define molecular mass and formula mass. Also write an example of each.
The atomic mass of copper metal is 63.6 amu. Calculate the mass of 3.5 moles of copper.

White any three uses of isotopes in medical field.

Write the group and period number of Phosphorus >/ P and Boron '*; B from their valence shell

electronic configuration.

Briefly explain the formation of ionic bond between Magnesium and Fluorine with the help of diagram.
Briefly explain the conductance of electricity by molten scdium chloride without diagram.

Differentiate diffusion and effusion. | '

What is meant by allotropes? Elaborate your answer briefly by writing abcut allotropes of phosphorus.

A chemist dissolves 11.2 g of KOH (molar mass 56) in two dm® of solution. Find its molarity.

Compare solution and suspension in three points.
Which substance is reduced and which one is oxidized in each of the following reactions:

a. N, + 3H, - 2NH,

b. Cl, + H,S - 2HCI+§

c. 2NH, +.3Cu0 —3Cu+3H,0+N,

Expiain Zinc plating with the help of chemical equations.

a. Which element is more metallic among Beryllium or Calcium? Give reason.
b. Write any one use of Magnesium.

Noble metals are inert. Elaborate this statemeht. ,

Write the electronic configuration of the foliowing by using 18, 2s ........ form.

a. Cl b. = Si c. X Ne

SECTION - C {Marks 20}

Attempt any TWO questions. All questions carry equal marks. ‘ {2 x 10 = 20)
A molecule has two nitrogen and four hydrogen atoms. If the symbols of nitrogen and hydrogen are
“;‘N and ;H respectively then write its empirical formula and determine its molar mass. ' (1+3)

Define ionization energy and atomic size. Also write their trends in periodic table. (3+3)

Define octet rule. Using this ruie, show the formation of carbon dioxide molecule with dot and
cross model. ‘ : : ' (2+2) _

Define Boyle's law. Volume of ethane gas is2.5dm’ at 2.10 atm pressure. When its pressure is

reduced to 1.05 atm its volume becomes 5.0dm’ . Explain this change using Boyle's law. (2+4)
Define solubility. Explain the effect of temperature on the solubility of ionic solids and gases. (1+4)
-Explain the elactrolytic refining of copper using a cell diagram. T {(4+)

e 1SA 1908 (L) —
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Roll No. Answer Sheet No.

Sig. of Candidate. ' Sig. of Invigilator,
CHEMISTRY SSC-I

SECTION — A (Marks 12)

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the gquestion paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i} Which of the following is the correct empirical formula of C,H,O(NG,);?
A. CH,O,N, B. C,H,0O,N, C. C,H,ON D. C.H,O,N,

{ii) Which of the following is a defect of Rutherford atomic model?
A, Electrons are negatively charged B. Most of the mass is present in nucleus
C. Electrons do not fall into the nucleus D. Most of the space in atom is empty
(iii) Which of the following property of halogens is maximum among the members of their pericd?
A Atomic radius : B. Electronegativity
C. Shielding effect - D Electropositivity
(iv)  The covalent bond is formed by: |
A Complete transfer of electrons B. Donating an electron pair by one atom
C. Accepting electron pair by one atom D. Mutual sharing of an electron pair by two atoms
(v) The aqueous solutions of ionic compounds conduct electricity due to:
A Their high density B. Free movement of their ions in solution
C. Their strong ionic bends , D Crystalfine structure ‘
{vi) A liquid boils when its vapour pressure becomes equal to!
A. 76 mmHg ‘ B. 0.5 atm
C. 101.325kPa D. 360 torr
(vii) Which of the following.is the opposite ¢f melting?
A. - Freezing B. Evaporation  C. Boiling D. Sublimation
(viy A 100 gram solution contains 25 grams of a solute. This solution will be called:;
A 25% solution of that solute B. 75% solution of that solute
S % 175% solution of that solute D. 125% solution of that solute |
(ix) The volume of a 0.5 M solution of hydrochloric acid containing its 2 moles is:
A 24w B 40dw’ c. - 05dm’ D.  0.4dm’
(X} Galvanizing is: | ,
A Coating with Zn ' B.  Coating with Sn
C. Coating with Cu D. Coating with Cr
(xi) What is reducing agent in the following reaction? CuO+ H, ~» Cu+ H,O
A CuO B. Cu - C. H,0 D. H,
(xii) Which of the following oxides is amphoteric oxide? o i
A NagO B.  ALO, c. . MgO D. SO,

For Examiner’'s use only:

Total Marks: . 12

Marks Obtained:
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CHEMISTRY SSC-I

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

Q.2

SECTION — B (Marks 33)

Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {(11x3=33)

(i)
(i)
(ifi)
()
{v)
(Vi)
(vii)
(viii)

()
(x)

(i)

(i)

(xiti)

{xiv)
(xv)

Note: '

Q.3

Differentiate ion and free radical. Give one exampie of each.
Ozone is a gas that stops UV radiations. Find the number of molecules in 3.5 moles of ozone gas.

Differentiate shells and sub-shells.

Define:
a. Periodic law b. Group of Periodic Table C. Atomic size

Briefly explain the formation of ions of Aluminium 13 47 and Fluorine SF.
How do the agueous solutions of ionic compounds conduct electricity?
Define Boyle's law. Derive its mathematical expression.

What is meant by vapour pressure? Why does the vapour pressure of a liquid increase by increasing
temperature?
The molar mas of sodium hydroxide is 40 g/mol. If you dissolve 25 g of it to make 3 dm’ solution,

what will be its molarity?
Two pairs of liguid are given. Which one is miscible and which one is not? State and give reason:

a.  H,0and CCi, b. H,O and Methanol
Separate oxidizing and reducing agents in the following reactions.
a. H,S +Cl, > 2HCI+S§
b. Cu™* tZng — Zo%gs Cugg
c.  2Mg +CO,— 2MgO+C
Explain briefly the cathodic protection.
a. Why are alkali metals kept in kerosene oil?
b. Complete the following reactions: .
.  2Na.+2H,0,, —> iy  Mg+HO, —

Write-any three applications of Platinum. _
Wirite the electronic configuration of the following by using 1s, 2s....... formula:

40 : Fenr
a. 1 AT , b. ?iSl v ];N

SECTION — G (Marks 20)

Attempt any TWO queétions. All questions cérry equal marks. ' (2x10~= ‘20)

. Write the postulates of Bohr atomic model. ) {05)
What Is meant by shielding effect? Also write and give reason for its trends in periodic table. “(1+4)
What is ionic bond? Expiain the formation of ionic bond in sodium chicride. ' (2+3)
Explain the effect of external pressure on boiling point. ! : (05)
Define solution, suspension and colfoid. _ (03) .
How is sodium manufactured from fused sodium chloride? Support your answer with equations
and diagram. {3+2+2)

—_1SA 1908 (ON) —
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